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1. A Right — ward shift in Demand Curve indicates
(A) A decrease in supply
(B) An increase in quantity supplied
(C) An increase in supply over the previous year
(D) Law of Variable proportions
AT 986 BT SR 3R FH1E ADHdSD & |
(1) ufch @1 BT BT
@ 9 A e w1 T
(@) g @ @ g B e 7 gft 7 ghg B
(@) fa=rer wagUE a4

2. Giffen goods are those goods
(A) For which demand increases as price decreases
(B) Which are in short supply
(C) Which have high elasticity of demand
(D) Which gives rise to a Cob — Web situation
fArTpe =gl 7 Ty '
(@) R FHd g TM W 3@ AR 98 ST 2 |
@) @ etew gl 2
@) R 9 o S o B
(]) I whsona ol ReIfy ®r U=T FRAT & |

3. “Third Party intervention” as “Conflict Resolution” is
(A) Often required
(B) Seldom required

(C) Required as a mandate, when conflict remains unresolved
(D) Not at all considered as an option

" JEY RO & wU A A e BT gwie”

@n umm: Tifyd g

@) @ H IR T TSl & |

([) ST FUY RIS I8 9 IUey & w9 H Jifed 3 |

(@) WR fdded & wu H AR & 721 fFHar m |
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4.

Balance of Payment is

(A) Balance of trade + Net earnings on invisibles

(B) Foreign exchange inflow — Foreign exchange outflow

(C) Balance of current account + Balance of capital account + Statistical discrepancy

(D) Export of goods — Import of goods

YT e B

(3) WMUR &7 A + ALl DI Y 3

@) faceh fafma omm — fagel fafma e

(d) =] ofal &I Y + Goll ol BT Y + FIRGDHII faah
(8) oGl BT PRI — 9l &1 ST

The goal of financial management to

(A) Maximise the wealth of Preference Shareholders
(B) Maximise the wealth of Debenture holders

(C) Maximise the wealth of Equity shareholders

(D) All of the above

fafera vay &1 3w © b

(31) T IRRURDI & &4 BT AfTHaH fHar Y
@) RO 9F GR®T & 99 BT Had fhar oy

@) gfFadl IR gRST & o9 BT ffSHad fhar oy
(@) SuRIEd I |

Working capital refers to the capital mobilized for meeting

(A) Long - term financial needs of the company

(B) To meet day — to — day financial obligations of the company
(C) To meet the future financial requirements of the company
(D) None of the above

Frieer Gl S o B AR e Rl & @ o T g
@) wH B Sedrfore ARk smavadnt & forg

@) I @ S O IRgdRi B R B @ oy

(@) wre @ A el @ gt @ fag

() SWiEd H ¥ Py 7ol |
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7.

The cost of equity can be measured as
(A) Rate of interest (1 - t)
(B) Rate of dividend (1 - t)

(C) Rate of dividend X (Facevalue  IssuePrice)

n
D1
D) —+G
D) 5

o O

SaAIC] BT NI Bl fhd wT § YT ST Fhdl 27
@) =T (1 —t)

@) omrer % (1 — t)

) Waxaﬁﬁrﬁ?&—ﬁﬂﬁaﬁﬂﬁ
D1

(®) E+G

The excess payment by the new company to the amalgamating companies for the
appraised value of the assets and liabilities taken over is accounted as

(A) Capital Reserve

(B) Bonus share capital

(C) Good will

(D) Amount paid for the acquisition of the brand

I8 HHAI gRT §Wford 8F drell dHal &1 gRRefadl qen off it <uari @
Aifhd gea @ forg ifaRed o &1 frg w9 aifdd faar smar 2

(31) oT wo

@ @ R g

(/) wfa

(@) oS @ ARUEY & oIy Ywa &1 Tg ARy

The ultimate mission or purpose is to relate human resources to future enterprise needs, so

as to maximize the future return on investment in human resources. It is referred as
(A) Demand and Supply (B) Forecasting

(C) Human Resource Planning (D) Human Resource Development

AT & difh AFd |l @ oy fhd U awr 9 sifSrdad wrdl ufawa ura foar o
A | §H BB ST &
(&) T 3R 3myft (@) gatgE

() 91d AATEIE Groil (@) Hrg HEEE fdara
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10. “Organizational learning” and “Learning organization” are

(A) Same (B) Different
(C) Reverse to each other (D) Complementary to each other
@) us & @) sferT
(@) TP — TR ufiad (@) - TP
11. Job Evaluation criterion comes from
(A) Job manual (B) Job description
(C) Job specification (D) Job duration
BRI AIIh & AIIGUS BT FA &
@) P fraHTaen @) P fqaRer
(@) @R fafRrean (@) @t srafr

12. Marketing research does not normally
(A) Gather environmental information
(B) Provide a continuous source of information
(C) Relate to all aspects of marketing operations

(D) Describe the current situation

fA9o SrgieT AT el DRl

(31) gufaRoT Heedl FoT FHGT Bl

(@) A1 BT A T UG BRA]
@) fourE st & 99 vell | Gefed g
(@) acH SraRer B faqror g

13.  Which of the following is not included 7 P’s of services marketing?

(A) Physical evidence (B) People

(C) Process (D) Marketing plan
fr=felRaa & & fauoE @1 7 O 31 Jamsil 7 affford T2 7 |
@ wifte e @ T

(@) ufshar (®) fauoE Ao
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14.  Which of the following is not the stage of new product development?

(A) Idea Generation (B) Business Analysis
(C) Test Marketing (D) Market Segmentation
fFeforRaa ® | 19 |1 T Scdre 9P BT =RoT T8 87
@) foaR s9=1 @) e fageror
(@) wRigor fauoE (@) doIR uR<ee
15. The practice of selling two or more separate products together for a single price is:
(A) Bundling (B) Dumping
(C) Both (A) and (B) (D) None of the above

Udh B DT IR Gl AT I ¥ 3Af¥e M — T I@TRT BT UE 9 Ay R Bl
BB T—
(@) dsfer @) SfE
@) (@) 3R (@) aH (@) SWIGd # A D3 Aol
16. Market risk is also known as
(A) Systematic risk or diversifiable risk
(B) Unsystematic risk or diversifiable risk
(C) Systematic risk or non — diversifiable risk

(D) Unsystematic risk or non — diversifiable risk

qToTR SIIREH I ST SITd] %—
@1 cmaRera SNiRew aterar afden A SNkeH
@) oryaRerd SIRH 3ferdT 3rdfaey ava SIRkeH
([) cuaRerd SNiRgw 21erEr srdfded Jrrg SIRgA
(@) SrdRerd SRgH 3ferdr dfded Ay SiRkaw
17. A marketer developing a brand name that is easy to pronounce would conduct:
(A) An association test (B) A memory test
(C) A preference test (D) A recall test
I F IR fhd S G dlel §is AW Dl GBI B FHY T [quurTehal
TN BT
(31) ATETd uRleTor @ T e
(@) urafAedr ke (&) YT THAROT Ueor
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18.

19.

20.

21.

A market structure which consists of one buyer and one seller is referred as

(A) Monopsony (B) Bilateral monopoly

(C) Monopoly (D) Duopoly

T qIOIR ARe1 o Us 8 WRIgaR iR U 81 fasar 81, 39 &ed ©
@ TH BHAMSHR @) fgueh PR

(®) TBIfEeR (@) guTfErerR

Selection of specific media in which advertisements will be run and when they will reach

the target market is called

(A) Advertising (B) Public Relations

(C) Media Planning (D) Publicity

gt &1 <9 @ forg fa¥re Mfar &1 =9 IR o9 a8 fagfa @ffa — TR @
RECHIRSHIC I

(@1 fasnfua &= @) b THuD

(@) Hifear o @) wER

Making profit by taking advantage of different prices prevailing in different markets is
referred as

(A) Hedging (B) Speculation

(C) Arbitrage (D) Gambling

= ol # e — =1 @al & UFe BT A SO B dEd @

CIEEISKE (@) et

(@) IR fdes (&) S

The Graphical method can be used to solve

(A) A linear programming problem with all integer data base

(B) A linear programming problem with two decision variables

(C) Any linear programming problem

(D) A transportation problem with two origins and two destinations
qThed fafr BT Fersm 7 vy fHar 51 @ 2 |

(1) T ZOIoR TIEEE & A1 U (IR YIITHT FHRIT

@) T fsdoE IRYTeT FHd U R QT Hieerd

() IS =R YT Ul

(@) TP SO Ul RTaH a1 URME 0d iR 3T T WId & |
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22.  Which type of sampling is appropriate when the population consists of well defined group
such that the elements within each group are homogeneous and between each group they
are heterogeneous?

(A) Cluster Sampling (B) Simple Random Sampling

(C) Stratified Sampling (D) Judgment Sampling

U ST, o goiqar alRqiid U g © fo9e Uie Wi 3 |Aoikiiadl & o
e 81 iR S U W H A SR & dvr Ut 8, & forg dwufelRT @

DI UBR SUYd RSIT?

(31) =B JHfeT @) = Agiee defelr
() wIgRd JHfoiT (@) faa® FwferT
23. Match the following:
List I List —II

(1) Poisson Distribution ()  Mean is greater than variance
(i1)) Normal Distribution (I) Mean & Variance are same
(ii1)) Chi — Square Distribution (III) Symmetric
(iv) Binomial Distribution (IV) Positively skewed

Codes:

(1) (1) (@) @[Qv)
(A) I 1 T IV
B) IV I T 1
(C) M M IV I
M) IV II 1 I

fferRad &1 gafea sy
T — 1 gl — 2
() e fadexor () 91" YR I Aferh g7 BT 2 |
(i) < faaRor (I) AT 3R TRV UH ©
(iii) T8 — faaRor (I11) wferar=aT
(iv) fg — ug faa=or (IV) 9hRIAS w0 9 fauq

@» () (1) (1v)

@) II 1 I IV
@ IV I I I
@ 1 1 IV I

)

) IV I 1 III

[Management (016)] Page 8 of 16

https://exams.freshersnow.com/category/entrance-exam-question-papers/



24. The standard error of the mean of a random sample of size two or more -
(A) Always exceeds the population standard deviation.
(B) Either exceeds or equals the population standard deviation.
(C) Is always lower than the population standard deviation.
(D) Is always equal to the population standard deviation.

a1 T & A Al P AR b ATgIBd T H ded Bl D Jfe—

@ STNIET AMG fdTe | 9Qd 98 Sl § |

@) STIET AFe Te | 98 Sl © I1dT G FH & B |

([) SHEE MG [dged 9 dqd HH &l B |

(8) SEET AFG e ¥ Aqd 9AM &l ¢ |

25. The most widely used method of collecting the primary data is -

(A) Experimental Research (B) Observation Research
(C) Statistical Research (D) Survey Research
grIfie Sffeel & Hhed o Haid ygaa fafd fr=faRed § & o9 @ 22
(@1 YIS T @) UeIUTHE T
(@) wiRed e (@) deEvT oRT
26. Which communication component is not a paid form of communication?
(A) Advertising (B) Sales promotion
(C) Personal selling (D) Publicity
frfaRad § 9 ST 99R gcd FaR & & Jed ©9 9 T8l 57
(o7) fasmo (@) faspr Haga
(@) <fFara fama CIREIN
27.  Which of the following is not a type of internet connection?
(A) ISDN (B) Dial —up
(C) Leased — Line (D) ISP
fr=feRaa § o DT $SIe HARM BT UBR Tl o7
@) omg U o uA @) SId — 3™
() ofiss — orgH (@) oms v W
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28.

29.

30.

The study of gestures and body postures for their impact on communication is known as-

(A) Kinesics (B) Proximics

(C) Semantics (D) Informal channels

R TR TG T4 ARING &1/ 470 & J91d & 31edd= &l $hed ¢ |
(@) orfEy s (@) wmer e

(&) wrearef faem (@) oMIyaR® ARTA

Arrange the following steps involved in the ‘information system development cycle’ in
the ascending order-

(1) Installation of the system

(ii)) Operations of the system

(i11) Definition and objectives of the system

(iv) Review and evaluation

(v) Development of the system

Codes:
(A) (D), (i), (v) (1v), (i1) (B) (i), (1), (v) (1), (iv)
©) (v), (1), (i11), (iv), (i1) (D) (iii), (v), (1) (i1), (iv)

LT yomell faera g | ffgd fefeiRad =Ron &1 SIRIET sd | gaiRerd HifoTe—
() YolTell gfa=emud
(i) woTel Afshamy
(iii) TOTell &1 TRYTYT derr Se
(iv) HIET AT GedTh
(v) YUllell &7 faera

(@) (@), (i), (v) (iv), (i) @)  dib), @), (v) (i), (v)

@) (), (), (id), (v, (i) (®) (ib), (v), () (i), (v)

When analysing your business and its environment, it is useful to carefully inspect -
(A) Threats (B) Opportunities

(C) Strengths and weaknesses (D) All of the above

AU FIER Ud $HD TRV B [ITCNUT HRd HHI U /Ul BT SgFghad e
RIECR G-

(31) SMmIATY @) sEER
(@) wfadt iR HASRAT (@) SWRaa a4

31. Which of the following project appraisal method is not based on time value of money?
(A) Payback method (B) Net present value method
(C) Internal rate of return method (D) Discounted payback method
fFrforRaa aRATSTHT i Al 3 B A gaT & 99 oI UR SR 81 57
(@) 9w el fafer @) gg To9 qea fafdr
(@) R — Ufdwer < fafer @) w©e e fafy
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32. The Government of India established the Small Industries Development Organisation

33.

34.

(SIDO) in the year:

(A) 1951 (B) 1972

(C) 1954 (D) 1982

YRT WGHR 7 g I&NT [ H1649 (SIDO) BT by a9 4 i fabar?

(@1) 1951 @) 1972

() 1954 () 1982

Corporate business ethics is _ norms and pattern that spring from organizational

view of good and bad, right and wrong.

(A) Social (B) Behavioural

(C) Institutional (D) Individual

PIONE FTATAD ATBAT oo HAME®G TAT Ued & Sl fb oo iR R, Al
IR TAd & SIS R | I B &

(31) TSI (@) FTERIRSD

() wrete (@) dufeTs

Trade Union strike supporting a political cause and affecting production activities is a
problem related to:
(A) Socio — economic phenomenon (B) Ethical and technical phenomenon

(C) Ethical and economic phenomenon (D) Socio — political phenomenon

o I & AR H iR IUred ARl &1 g9ifad w31 arell Asigy |/ 6l
ESNICRE S IRITC RIS IS CIERESE R

(1) wmRTS s uRged @) Ffe iR deiar uRged
(@) e &R s uRgea (8) HINTS oo TR
35. The number of allocated cells in the optimal solution of a transportation problem having
m rows and n columns is:
(A) m+n-1 (B) m+n-1orless
(C) m+n+1 (D) None of the above
m YRR T n W B URTET R & Admead B H [AFRET diftsawei @
@ 7
@) m+n-1 @) m+n-1 3 HH
(M) m+n+1 @) Swdad # ¥ BIg T2
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36.

37.

38.

An entrepreneur who is neither willing to introduce new changes nor to adopt new
methods 1s known as:

(A) Adoptive Entrepreneur (B) Fabian Entrepreneur

(C) Innovative Entrepreneur (D) Drone Entrepreneur

Uh M Sf 9 dF 949 gRad=l Bl UR®T BR" Bl sTolefed Y&dl & 9 8 =de
gl BT 399 & oIy deR & &7 FHEeA &7

@n offiery e @) wfeus se

(@) Ay e (@) 3T ST
Entrepreneurship as a theory of business was propounded by:

(A) Douglas McGregor (B) Thomas A. Coleman
(C) Joseph A. Schumpeter (D) Adam Smith

SEHAT DI FIA & Rgra @ ©u ¥ fhan gfoures fear

(@) ST HHIR @) ofF9 U Pl

(W) Si% T gedier @) ueH Reer

A high ranking organizational official (e.g. general counsellor or vice president) who is
expected to provide strategies for ensuring ethical conduct throughout the organization is

known as:
(A) Ethics Manager (B) Ethics Officer
(C) Ethics Controller (D) Ethics Counselor

ST BT Uh Fod UGB RI T g H1ed H Al 3R &I GiHRed H- &1 A
DI GIRH & S7© T Bl Sl &7

(&) STER HdED @) TR ARy
@) MR rEs (]) SIMER AATEDHR
39. Match the theories of Foreign Direct Investment with their contributors:
List -1 (Theory) List —II (Contributor)
(A) Industrial Organization Theory (1) Kemp & McDougall
(B) Location Specific Theory (1)) Hood and Young
(C) Product Cycle Theory (i) Stephen Hymer
(D) Two — Country Model (iv) Raymond Vernon
Codes:
A B C D
(A) i i v
B) iv 1 1 il
(C) i i v i
(D) i i iv il
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40.

41.

42.

facer geger e & RIgr=l de S yadd! dI GHfda DI

gl — 1 (Frgr) @ — 2 (Jad®)
(@1 Sirenfre Hred Rigr (i) S qAT AHSITA
@) oraRerd fafltre Rigra (i) TS TAT I
(@) SdE Td g (i) DT ERFR
@) fg<w wisa (iv) YHUS g4
Codes:

I § ¥ T
@) i i i v
@ iv i i i
@) i i iv i
@ i i v iii

Corporate governance mechanism should ensure that corporate executive make strategic
decisions that serve the entire group of:

(A) Environmentalists (B) Government officials

(C) Suppliers (D) Shareholders

HURT AT T B GAREd w1 ARY & BURe & AR VT IFIRS
fofa & o Wl e & forg Raw &)

(@1) uieRr faar @) RN HHATRAl

() emqRfedia @) dRRERE

While developing customer loyalty programmes, database is often not helpful in:

(A) Identifying prospective customers  (B) Deepening customer loyalty

(C) Avoiding serious customer mistakes (D) Creating consumer associations
YTEHTST HRIHA B [AHfid =d 97 9891 Scew faad 9 4 fhad w8
&I BIaT?

(1) |WIfad UTEd! B ugad H @) uED 8T DI TEd 9 H

(@) TR UTEH Tl B IRER B H (])  IuHIEGA G TSd BRAT

(1) In PERT, it is assumed that the activity times follow the beta distribution

(1) In CPM, two time and cost estimates are made for each activity, which are
called the optimistic and pessimistic estimates
(ii1)) Time is the only variable used in PERT
(iv) While in PERT the emphasis is on event, in CPM the emphasis is on activity
(A) All of the above are true
(B) While (1) and (ii) are false, (iii) and (iv) are true
(C) Only (1), (ii1) and (iv) are true
(D) All the above are false.
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43.

44,

() PERT ¥ Jg 941 Sal © o fafafer w93 dier g1 &1 o1 ureld &l & |
(i) CPM ¥ &1 ¥9g Td &I 3IGAM U TTafaley & forg e fay g &, i
3TTRITETe] QAT FRTEETR! AN S o |
(i) 999 T @R © @1 PERT H WIR €eql W) W&dT 8, CPM # SR
ferfafer o <&ar @
(iv) STaf pert # SR €T TR Y&l 8, CPM # SR Tfafafdy wx I&dr 2|
@) Swdw w8
@) (i) 3R (ii) ™I &, @R (iii) 3R (iv) 9T &
(&) ®ae (i), (iii) R (iv) T §
@) SHad Tf o 7

What are the stages 2, 3 and 4 of the active strategic process?

(A) Generate process, select strategy, and implement strategy

(B) Strategy selection, strategy implementation, control strategy

(C) Deliberate strategy, emergent strategy, realized strategy

(D) Appraisal of strength and weaknesses, choice of strategic direction, strategic
implementation

Afha oI Ufshar @ ra=eIy 2, 3, 3R 4 T 87
(31) ufshar G DHRAT, RO BT ==, RO BT fehar=<g=
(@) RO BT =3E, O BT g, IO & FEEoT
GlaaRa YorIfd, seR¥e oI, Braffad o
(@) wfoTal g HASINGT BT i, oI e &1 ey, IoMifds fharaa

‘Free trade’ means-
(1) Opening different sectors for the FDI in flow
(i1) Greater competition which, in turn, enhances efficiency
(ii1)) Development of new industries
(iv) Incentives for Imports and Exports

Codes:

(A) Al (i), (i), (iii) and (iv) (B) Both (i) and (ii)
(C) Only (ii) (D) Only (i)

"o AMUR BT 3ref 28—

(i) FDI arqdaig @ forv =1 &= &1 wnfiae o=
(i) gETR YRR ST bR &H\ar &1 geril @
(iii) -4 SR &1 [Ja™

(iv) *maral vd fatar & foe grears=

Codes:
@) | (1), (ii), (iii) TF (iv) @) =E () U9 (i)
([) Dad (i) @) P (i)
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45.

46.

47.

48.

49.

The phrase “quantum meruit” means-
(A) as much as earned

(C) to each according to his condition
qIRITeT “FaeH RIS BT AAAT B—
(31) TumEwE AR

() AP gRT uRRf AR

A breach of contractcanbe of .............

(B) to each according to his need

(D) none to the options is correct

@) YIP gRI ATIHAT TR

(@) g A wEl el ©

... Breach.

(A) Actual (B) Anticipatory

(C) Both (A) & (B) (D) None of the above
& SAAQT BT HT BAT o T BHRAT & Fhdll & |

(@1 arafd® @ orfiH

(@) =T (A) 3R (B)

The legal relationship between the middleman and the business person is governed by -

(A) Law of Business
(C) Law of Agency

U ATINI T HEIRLAT el Afdd & dftih Gael Bl fhad gRT IRId fHar S It 27

(3 AUR BrA
() 3BT DI

Now-a-days tickets can be booked through internet. Identify the type of dimension of

business environment?
(A) Legal Environment

(C) Social Environment

TSTHel $SIC & GRT CHT g HAT S FHhdT & | AUR IR & 59 IMAF Bl

(8) re W TEI

(B) Law of Surety
(D) None of the above

C)ESLIRG]

@) s9H | PIg 7L

(B) Technological Environment

(D) Political Environment

f=faRaa 5 & ggam—
(@1) du graTaReT @) UrenfireT araraRor
(|) AHISTD dTaTaR] SRS EISEACISIER

Under section 2(6) of the sale of goods act, 1930 ‘Future Goods’ means-

(A) Goods which are not yet in existence (B) Unascertained Goods

(C) Ascertained Goods (D) Specific Goods

G @ fAa IRAFTH 1930 STTIRT 2(6) & IITAR WAl IY T &7 37ef 72

(1) 9T awy S ol ofkaa # B & (@) SriREd awqy
@) ffRad axqd (@) faRme awgy
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50. Liberalization means -
(A) Reducing number of reserved industries form 17 to 8.
(B) Liberating the industry, trade and economy from unwanted restrictions.
(C) Opening up of economy to the world by attaining international competitiveness

(D) Free determination of interest rates

ISRIBNT BT 37ef B —

(@) RSId SN & SHIRAT BN HH HIAT 17 | 8 |

@) oEfTd SHPT, AR AJTIRRAT BT R Ulaawl § STRIGRT |

@) uffdrSHar o1 geTdx a3 & foru refeyaven & @re T |

(@) =S 1 Pl A G|

oo
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